Nel. Hanaute 3Ha4YeHUE BblpaXKeHUA:

1) 8,7 +4,6; ) L2 . 32, 2)1.27. 5)2L. 3.
8,3—8,6 4,425 5 50 5 7
6)6,1-2,5; Ny 8) 9)—-=;  10)I-=;
4,1+5,3 12,5:1,4 10 50 5 35
11) 2,1 9,6; 12) 2220 13) 2223 14)2+3, 15) =: =
1,4 6,6 4 5 5 11
16) 22, 17) 2250, 192028 g9 2. Dy 2
1,3 2,2 0,8 25 4 2 5
Ne2. Hanaute 3HaYeHMe BblpaxKeHusA:
26 1 5 8, 11 2 a1y .
1) 1_—il 2) N 3) (22 11) 5’ 4) ( 9 315) 9;
14 35 60
13 3.1 4. 7 11y 17, o154,
5) T 6)C-2):3; 7)(m+o)t 8)32: (13-,
1 2 7 11 7 1 13 5
9) g, 10) (5+ 5) - 15; 11) (11_6- 35) -4, 12) 15 . (11_8- 2;)

Ne3. HaiauTe 3Ha4YeHUE BblpaXKeHUA:

1) -7-(-4,7)—6,8; 2)30-0,8 - (-10)%;
4) 53-9-(-4,4); 5)-80+0,3 - (-10)%;
7) -0,2 - (-10)? + 55; 8) (1,7 - 103) - (5 - 10%);

10) 0,9 (-10)*+50;  11) (2,1-102)-(2-10?);

3)(7-10%)2- (16 - 10%);

6) (14 - 102)? - (12 - 10%);

9) 0,8+(-10)*+3+(-10)3+78;
12) -0,7-(-10)*-8-(-10)3-26.



